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Decadence 
created by Lisa Overby 

This light weight hat is pure joy to knit and wear.  The cashmere is truly      

decadent to  work with and knits up fast. 
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PATTERN INSTRUCTIONS 

CO 130 sts, join to knit in the Rnd, careful to not twist 

your sts, pm to denote the beginning of the Rnd  

Ribbing   

k3, p2 rib for approximately 2 inches 

Body 

Rnd 1: k 

Repeat Rnd 1 until hat measures 7” from the CO edge 

Decreases 

Rnd 1: *k8, k2tog*, repeat ** to end of Rnd (117 sts) 

Rnd 2 and every other even Rnd: k 

Rnd 3:  *k7, k2tog*, repeat ** to end of Rnd (104 sts) 

Rnd 5:  *k6, k2tog*, repeat ** to end of Rnd (91 sts) 

Rnd 7:  *k5, k2tog*, repeat ** to end of Rnd (78 sts) 

Rnd 9:  *k4, k2tog*, repeat ** to end of Rnd (65 sts) 

 

Rnd 11:  *k3, k2tog*, repeat ** to end of Rnd (52 sts) 

Rnd 13:  *k2, k2tog*, repeat ** to end of Rnd (39 sts) 

Rnd 15:  *k1, k2tog*, repeat ** to end of Rnd (26 sts) 

Rnd 17:  *k2tog*, repeat ** to end of Rnd (13 sts) 

Finishing 

Cut yarn, leaving a 6” tail, thread through remaining sts 

and pull tight to close the hole, weave in ends 

MATERIALS & INFO 

Yarn: 1 skein Yarn Twisters Berkley; 210 yards/50g; 
100% Cashmere; approx. 40g used for sample 

Sample knit in colourway Salty Dog  

Gauge: 30 sts by 44 Rnds equal 4” by 4” in            
stockinette in the round before blocking 

Needles: 2.75 mm (US 2) 16” circular needle; or size 
needed to obtain gauge  

Notions: stitch marker, darning needle 

Finished size unstretched:  Circumference 14”; Height 
8”  

 

 

 

 

 

ABBREVIATIONS 

BOR - beginning of Rnd  

CO - cast on  

k - knit  

k2tog - knit 2 together; insert needle into the next 2 sts, 

knit the 2 sts together as one (1 st decreased)  

pm – place marker  

Rnd - round  

st/sts - stitch/stitches  


